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More Exact Values Name:

Find the exact value of each expression.

1. tan(-2257) 2. cos| 73%'
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@ Flnd the exact value(s) of 6 (|n degrees), where 0< 8 <360
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@ Flnd the exact value(s) of 8 (in degrees), where 0< 6 <360°
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Tonight.#l=%.(#10-I5.is Tmr)

Find the exact value(s) of 8 (in degrees), where 0< 8 <360°
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1. 92009’1‘ 7£ 2. 8:sin’1‘ £ ‘ 3. 6 =arcsin| _1 ‘
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4, cosf=|——| 5. f=arctan(l 6. &=arcsin(l
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7. 8=cos?(-1) 8. @=sin'(0) 9. tanf=(-1)

Find the exact value(s) of 8 (in radians), where 0 <8< 27

1
10. 8:arccos|%‘ 11, sin@=(-1) 12, #=cos™(0)
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13. f=cot? {7\5] 14, &=arccos
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Find the exact valueg of 0 (in degrees), where 0< 68 <360°

1. @ =arccos| —
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